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Note : i)  This question paper consists of 49 questions in all.
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All questions are Compulsorﬁl.

Marks are given against each question.

For Optional Module, attempt all questions either from Optional Module I or Optional

Module II.

Section - A consists of Question Numbers 1 to 25 and 41 to 47, as follows :

(@) Q. No. 1 to 17 and 41 to 43 - are Multiple Choice Questions (MCQs) carrying 1
mark each (1x20=20). Select and write the most appropriate option
(A, B, Cor D).

(b) Q. No. 18 to 25 and 44 to 47 - are Other Objective Type Questions. Q. No. 18, 19
and 21 carries 2 marks (with 2 sub parts of 1 mark each) and Q. No. 20 carries 5
marks Ewith 5 sub parts of 1 mark each), Q. No. 22 carries 3 marks (with 3 sub
parts of 1 mark eac P, Q. No. 23, 24 and 25 carries 4 marks (with 4 sub parts of 1
mark each), as well as Q. No. 44 to 47 carries 1 mark each. Attempt as per
instructions given therein with each such question at 18 to 25 and 44 to 47.

Section - B at number 26 to 40 and 48 to 49 consists of Descriptive Type Questions as

follows :

(@) Q. No. 26 to 31 and 48 - are Very Short Answer Type Questions, carries 2 marks
each (2x7=14), to be answered in the range of 80 to 120 words.

(b) Q. No. 32 to 38 - are Short Answer Type Questions, carries 3 marks each (3x7=21),
to be answered in the range of 150 to 200 words.

(c) Q. No. 39 and 40 and 49 - are Long Answer Type Questions, carries 5 marks each
(5x3=15), to be answered in the range of 400 to 500 words.

T U-T B FeT 49 T |

Tt 7 sifEr €1

TE T F W 3 e T T

Shfeudh Aiega H STIR! A1l dAehieueh HISIA 1 A1 Jehfeddh ATSTet 11 % Tt I3 T 2 |

@Us - AT U Hem 19 25 31k 41 9 47 FA TR €

(a) T HEA 19 17 3R 41 § 43 - Tgfawedd YHR F U T, S YA 1 3F H T
(1x20=20) | 37 U H Fa9 I9gH fashed (A, B, CA D) I iR fafam

(b) T T 18 | 25 37X 44 ¥ 47 - 1 TS T € | Fe T 18, 19 AR 21 Feoieh 2
T 1 T (2 ITIN % WY YA 1 1 36, T3 H&A 20 & 5 3 § (W= IU9W F
T Feoreh o1 1 37h), Fe WEA1 22 3 3ieh & (T SUHNT o e Yedleh o1 1 3ieh), T
T 23, 24 3R 25 YT 4 3 1 T (AR YA % WY Go4h H1 1 3h), T AR
T T 44 Y 47 TAF 1 31 1 T | U9 H&AT 18 W 25 3R 44 § 47 % IW & T g1

% AR e |

|Ug - B H Y GE& 26 W 40 371 48 ¥ 49 1 YR F Il T4 € ¢

(a) U HEAT 26 Y 31 3R 48 - 3TMIeTy IANT TR o I, Y& I 2 3T (2x7=14), 3R
IR HT I5E T 80 T 120 VT F |

(b) U WA 32 W 38 - Y AT YR o T, TS 1 3 37 (3x7=21), 3R IW & I
T 150 ¥ 200 9 T

(c) U W@ 39 3R 40 qAT 49 - H IANA YR & U T, T&Ah &l 5 37 (5x3=15), 3R
I T TIsg HHAT 400 H 500 T T |
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NOTE/fd9r :

(1) Answers of all questions are to be given in the Answer-Book given to you.
[eft gl o I 39T & TR I gfent | 7 forg |

(2) 15 minutes time has been allotted to read this question paper. The question paper will be
distributed at 02.15 p.m. From 02.15 p.m. to 02.30 p.m., the students will read the question
paper only and will not write any answer on the answer-book during this period.

Y YI-UF & Ued & fag 15 fme 1 g9 faan mn €1 93-u o1 foaor Sl # 02.15 99 foha
ST | 02.15 SIS & 02.30 91 Tk ST Hael G¥-T7 Sl Ui IR 30 7afy & A o IW-Rash W
HIE IW T ferai |

SECTION - A/ @Us - A

Answer all Multiple Choice questions.
Tt SEfaehcdia U9l o 3T |
1.  Which fact is not considered by sociologists in their understanding of Institutions ? 1
(A) They are basic constituents of society
(B) Important for survival of society

(C) Is simply an organization like a school or a hospital
(D) Six primary institutions are found in almost every society

el o et | FHSEeEl g TRy qe o for=m @ o s 2
(A) O HHAN & JARI T §

(B) o WH % 3 & foru wewqut €

(C) I haa foamer iR sTeqdTet St Tsh Geen ©

(D) I & T H B8 mefhes Heemd o st §

2. Illiteracy is a curse for modern society because it leads to : 1
(A) Ignorance (B) Deprivation
(C) Often wrong thoughts and actions (D) All of the above is true
frRerar smyfes T % fag weh iy €, =it =g ft o0t 3R & S §
(A) S (B) ATl
(C) o fo=R iR Fed (D) IR qf T §
3. After the middle of the 19th century, the industrial revolution took the form of a definite 1
system. Identify the fact which is/are true :
(A) Man tried to control the environment
(B) Large corporations and companies came into being

(C) Economy started to be based on differentiation
(D) All the above facts are true

19 & 9t % WA % 1R, SR whifd 7 U ghfea @Ey gro fea 1 = 8 9 o qem
RECIE R

(A) A A e i A S T RIR w6 g

(B) FEI-=gt wwfAl IR e e ® o1

(C) stefegereen, fasEentor W T & T8 |

(D) U qft T
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4.  Identify the factor that cannot be associated with poverty faced by a number of families in 1
our country.
(A) They are landless and are dependent on others for work and wages
(B) They have to work at low wages
(C) They get work all the year round
(D) They have to take loans at high rates of interest

Y HRE I TeAH FHE Y AR <9 H w2 IRER gRI G i S @R S et @ = Ser sn
Hepdl ¢

(A) 9 9 T 3R &M 3 Aeigd & foae gl W el 71

(B) 3% HH IqT R HM HLAT IS 7

(C) % R ad wm oot &

(D) 3% 3= <A T W KT &A1 IS ©

5.  There are many types of communities; some of them are easily identifiable. Pick out the odd 1
one from the following :
(A) Village or rural (B) Trade union
(C) Nation (D) World
TS FE YR & B & o SAEH § T8aH 9 & | F71 § § S 91 9YEE 1 ST T8 & 2
(A) e (B) SR T
©) T (D) fora

6.  The Industrial Revolution that started in Europe in the late 17th century gradually impacted 1
the entire globe. Identify the factor that cannot be associated with this phenomenon :
(A) Production moved out of households to factories.
(B) The role of capital in the production process increased.
(C) People from all strata took to agricultural activities.
(D) Many women entered the work force.

9 | 17 Tt H g ofenfies wifa -+ dqut fava & et 7 | 39 FRSE FI Te9H HE S 9
TREeT | e g7 e § ¢
(A) 3 =R Y FHeheTeRt SR@Ml | <ell 741 |
(B) Scare Wfshen H Yt wftvew & T |
(C) 9t =Tl < w3 fw Tfdfaferl s sToAmn |
(D) &t Afgemetl 7 % &5 H worw fora |
7.  Traditional occupation system known as the Jajmani system is gradually eroding. What has 1
been the main reason of this trend ?
(A) Land reforms has altered traditional land ownership structure
(B) Market economy has spread

(C) Nature of inter-caste relationship is changing
(D) All of the above

TRk STER JUTelt S8 SIS el 3 918 9 ST S ¢, G-+ 96 31 W@ € | 59 g
FNOE :

(A)  4fF guRi 3 TRufes yft T S @t e fe g1

(B) WITSIR SALaE 1 Jol¥l

(C)  3rsiica Geiell st Wehfa oiget W &

(D) SUUE |t
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10.

11.

12.

Which of the following qualify as a social group ?
(A) Audience clapping after watching an interesting play
(B) A crowd witnessing a protest rally passing by

(C) Residents welfare association meeting every week in the colony common room

(D) Random people at a railway platform waiting to board
frefafed § @ 9 @ amfeas a9 ® 2

(A) TH feT=ed Tk @ & 918 S drell ol @© 2 |

(B) T fore Yoft <@ & +fis T8 ¥ TR @

(C) e 5 T E R i SereR T 5 e A
(

)
D) Ycld ®IEHH W =G o SASIR H sialdiel @nl

Which of the following is not a feature of caste system ?
(A) Segmental division of society (B) Restrictions on occupation, food
(C©) Endogamy (D) Non-hereditary

frafafea § & #1  snfa-ewen & @& 72 § ?
(A) HHS &1 GUScHe fauTsH (B) HIHM 3R WIS W e

(C) oTafdamE (D) R-FMIT@

A neighbourhood or a village are good examples of which of the following ?
(A) Community (B) Society

(€) Urbanization (D) Association

o e a1 it et ¥ W fe o saw § 2

(A) HHHA (B) wAS
(©) =R (D) ==

Which one of the following will not fall under consanguineal kinship ?
(A) Relationship between child and parents

(B) Relationship between uncles and niece/nephews

(C) Relationship between father and mother

(D) Relationship between siblings with same set of parents

frfafea & § =F o1 T9ed e & Adid el 3T 2
(A) o= 3R Ara-Taan & = Hey

(B) == AR SASH/ wicftsii o ot Hey

(C) far iR # & o= Haly

(D) T\ Hrar-fadt arer TE-sHl & oe oy

Identify the factor that is not linked to membership of a caste.
(A) Ascribed (B) Hereditary
(C) Transferable (D) Assigns a social status

39 HR I TEEH P ol FRdt Sfd i Iewd ¥ 91 T S
(A) ¥<d (B) @RI
(C) TIMiaRd (D) 9IS Yfeerdt UM Tl
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13.

14.

15.

16.

17.

Scheduled Tribes have been conscious of their identity since long and have organized 1
movements against :

(A) Zamindars (B) Jagirdars

(C) British rule (D) All of the above

IYfad SASIaal o T9F 9 319 TeeH & U0 g9 Wi ¥ IR 3= 8 faems sticer
TS fep €

(A) SRR (B) SMIRER

(C) forrer e (D) W Tt

Modernisation is a broader concept than westernisation. Which of the following statement 1
does not support it ?

(A) Any culture can modernise itself without adapting to western values

(B) Our caste system has adapted to the modern practices like educating people

(C) Integrate the rational aspects of the tradition and suitable aspects of modernity
(D) All the above statement support the fact

MY eRTRToT Tf=Tiehtor st qorl B U oaeh TauRo ¢ fefafed § 9 &1 o1 weF 59
HHA TEl HLaT ?

(A) = off G&pfa 9= gl i STIATC foaT W@ ol SYfeh o1 Fehat ¢ |

(B) HI S =reree 3 @Rl ol fiferd e St ey gensdi w1 ofa foren B

(C) WU % THETT Tegsil 3R AefThal % IUH TSI ! Thihd fhal T

(D) SUeR Gt e qeA T gHLT FA T |

Favouritism, dowry, foeticide, immorality etc. will all fall into which form of corruption ? 1
(A) Social (B) Political

(C) Religious (D) Professional

TeTITd, TeS, YUTEeT, 3Tfaehdl oTfe YT=R & fohd &9 # T ?

(A) WAISH (B) USHfdeh

(C) e (D) U9

For simpler understanding, Anthropologists have defined a tribe as a social group that : 1

(A) Has territorial affiliation and no specialization function
(B) Is exogamous in nature

(C) Is conscious of territorial and ethnic homogeneity

(D) Only (A) and (C) are correct

TS A o T, Aasmest stfcars me T T 9 99 9 id © TSTee :
(A) T fafeaa & § e urn s € o) i fafbreieo 72 g

(B) vl H afefdar ¥

(C) A TN T IS T & Thell o TR H SIFTER 2 ¢ |

(D) Fad (A) IR (C) T T |

The Survey Method of social research can be classified as : 1
(A) Evaluative (B) Predictive

(C) Explanatory (D) All of the above

TSI STIHYM & HA&T fafy 1 36 YR afieha foRdl ST Tehell © :

(A) HeAThAHS (B) wferea <¥ieh

(C) =ArEATHS (D) W Tt
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18. Fill in the blanks. 1x2=2
(i) The term which applies to persons of two or more kinship categories is known as
(denotative/classificatory/isolative) term.

(i) Kinship is important for the individual as well as the (association/ group/
country).
Tkt T o |
() @ TS S NS & QM fuw AR W AN a §, S9 (¥ / erTicHeh/
YUITF ) IS Fed & |
(i) RN SAfR % Y- (TE/9qE/<w) & o off mewgel 7
19. State True/False. 1x2=2

(i) Movements that aim at restoration or reinforcement of old, traditional systems can be
termed as counter-revolution.

(ii) Functionalist theory states that every pattern of action, belief and interaction tends to
generate an opposing reaction.

el 91 Terq feafam)
() 9 AREE S qU, TR YSiadl S SRl e Al o Sevd ¥ =9ae 9§, o

‘gfq-shifa’ Fead 2 |
(iiy TR ® FaET % ATIR Tk, favard iR stafshen T foada wfafsean 61 70 <3 &
TS R €
20. Define One Word. 1x5=5

(i) Kinship terms that cannot be further reduced or broken down into simpler words are
referred to as -

(i) A joint family system where the extension of family is along vertical lines is known as -

(iii) When the descent is traced through the female line, it is called -

(iv) Kinship behaviour under which kinsmen do not address each other directly is referred
to as -

(v) A person who is the basic point of reference in determining and tracing kinship is -

Teh ¥sg | g sifs |

() O TRRR Ug 5 iR B vrsdl # 7 aen A drer S wehdl 39 HhEd ¥ -

(i) GIH TRER YoMel el TReR 1 faear Seafer Y@msii & 91 2 €, o wedld © -
() T ST B G H IR Y IE § q9 3 Fed ¥ -

(iv) AeRl & o= & o forelt mreem | qesier foran ST A T -

(v) o fe foash SER W AeR! fHfY=a &t St €, weand & -

21. Fill in the blanks. 1x2=2

(i)  Rural societies have a relatively (developed/self-sufficient/ professional)
economy particularly in terms of production and consumption.

(ii) (Pull/Push/Resource) factor means the relatives in the town invite their
close people and try to give them jobs.

e warm Wit

(i)  TITeN T SrefeaEen ( forshfa/ STt/ TRER) 2, WK | 3Ce T8 STHIT 6
GERN

(i) (Ei=r/ weher /g|me) ot feafq o1 oo wmwenfEEl 1 Sk el § s9 U

Trehe Heitlt o1 M feam & foau sedl | AHa e 2
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22. State True/False. 1x3=3
(i)  Every group is structurally organized.

(i) Based on the presence or absence of formal rules, groups can be defined as formal or
informal.

(iii) Family as an association is a group whereas an institution, is not a group.
& AT et fafam)
(i) T GUE HEAIHS §Y 9 Hifed ¥

(i) et sl fram =t ufeufa stemn stufeafa & wg &1 Siq=nie =1 sH=nie 998
gfeefer foham < Gk €1

(i) T T F €9 H IRAR T HE ©, ! Th T o &9 § T T4l ¢ |

23. Inthis question there are a total of 4 items Match the Columns type question items carrying

1 mark each. 1x4=4
(i) Nuclear Family (a) Implies that the interest of the family as a whole is
more important than individual interest
(i) Matriarchal Families (b) Isbasically a bilateral grouping made up of husband,
wife and relatives on both sides
(i) In Western Countries (c) Isa type of family based on size
(iv) Familistic Interest (d) Examples, Nayars of Kerala and Garo tribes of
Assam

() Married couple reside in the wife’s parental
household or community

(f)  Young couples mainly prefer Neolocal family

39 U9 H g 4 FeT U9 &, U U9 T 30k T 2

() THA TRER (a) T I ¥ o w0 w9 9 ufear &1 feq safea fea @
e Heweryol g1

(i) AEAEER qRAR (b) TS ®9 9 Ufa-get iR ST vl & fededi 9 59 T
fguafa g T

(i) fe=t <u | (c) SRR o STER T MYRT IRar |

(iv) uRarardt fed (d) ST % A et & ARR SR ST MR SSaar

(e) Toenfea Sl uclt o fodr o =X 3teren wqeE § a9

FHI T |

(f) FSEME Sie J& §U 9 oM diel IRER i 9gal Jd

g
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24. Read the passage carefully and then answer the questions which follows. (1 Mark each) 4

The followers of Judaism are known as Jews. The ancient Indian settlements of Jews
are in Cochin and Maharashtra. Both the settlements are small in number having a combined
population of not more than twenty thousand.

The Jews of Cochin have maintained their religious identity for at least a millennium. It
was in 1020 AD that the king of Cochin gave the Jews the right to live and enjoy privileges,
such as the right to ride elephants and to go with a state umbrella etc. Later, the Jews came
to be divided into two groups-the white Jews, who were lighter in their skin color and traced
their kinship to the original migrants and the Black Jews who were dark skinned. Between
these two groups of Jews there was no similarity in food habits and marriages.

By contrast the Jews in Maharashtra are large in number. The Jews of Cochin were
different from the Jews of Maharashtra. These Jews are known as Bene Israel i.e. Sons of
Israel. They live in several Konkani-speaking villages as oil pressers, since oil pressing is not a
prestigious occupation, they do not rank high in their villages. As they do not work on
Saturdays, they are also known as Saturday Oilmen.

(i) What were the Jews of Maharashtra called ?
(i) Mention the rights and privileges granted by the King of Cochin for the Jews.

(i) Which religion is followed by the Jews ? Where had they mainly settled down in
India ?

(iv) Write a brief note on the ‘Bene Israel’.
=1 TTenyT Rt eAYdes ufe X e few T weet & SeR it

ISl o Rl WA ATl Sl It Hed § | RN WRAT Fgiedl o R AT SNETd i o HeRTs
¥ 37 S T 6t Sl agd SIS W& | €1 3T T 20,000 ST ¥ |

I o AGICAN 1 ST TEAH JTeh T (e o6) § o W& ¢ ed © ok 1020 sl
T = o TSI A TR ol FS fomiw Afesr fed &1 37 favm siferil # wreft &t Tar oIk Tshia
S Rl TR T AT | WG H F IgE S TRl H S T, Tod FGaT TSrTeh! woral §he off SR S o1

3TTIeh! HifeTsh ATgal A &, T 99E 98 SRt 11 htell o | gfedi & 59 91 9el § @H-TH 3R
forae & i Ty &l 9|

3ok foadid werTe § Tgfedl i e a3t 1w % g, N & ggied 9 fu= €
RIS 3 AR[QAN ol SISSISe A SIUSE o T Had § | HIHUN ST Sier ot el § ¥ 75t ad
T T A & HTeR deil T U= RS Ao -8l & | 37d: ST M § SR W SA el ¢ 1 o
WTIR =l T TE i, 3¢ AR 3T B off hel S §

(i) TERISE % AgcA I 1 el Sl o1 ?

(ii) I % TS R Fgfadl ol fU T SRl el foRifeeRi o1 Seer@ it |
(i) FEel forg o o1 UTe e €2 3 R § g 9 Y el o9 ?

(iv) ‘SFESTEA’ W Tk G feolt fafe )
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25. Answer the following Assertion Reasoning Questions. 1x4=4
FreferfEa we i o ST i)
(i) Based on the following identify the correct option.

Assertion (A) : The direction of evolution can easily be reversed from the complex
stage to the simple stage.

Reason (R) : Evolution is an irreversible process.

(A) (A) is true, but (R) is false

(B) (A) is false, but (R) is true

(C) Both (A) and (R) are true

(D) Both (A) and (R) are false

11 & YR W F& foshed &l AT

Trar (A) o &t foun 1 o 9 wifed | Wa w1 SR afafda fean s wear B

HIUT (R) : foerra we srafied=ia wferan 1

(A) (A) H&, e (R) TTomd @

(B) (A) e, WA (R) T &

(C) THi(A) 3R (R) &t &

(D) <HI (A) 3R (R) Terd &

(i) Based on the following identify the correct option.

Assertion (A) : Revolution is a sudden and abrupt overthrow of the existing social
order.

Reason (R) : In French revolution the rule of the emperor came to an end suddenly.

(A) (A) is true, but (R) is false

(B) (A) is false, but (R) is true

(C) Both (A) and (R) are true

(D) Both (A) and (R) are false

11 & YR W F& foshed &l AT
TET (A) : HISEI HHTSS el HR TS i $TaHs R TS @S theh S
ferfar ifa 2t 21

SIUT (R) : FiF S TThId & HATET TS i Hl TheH FHIC 2l T8 off |
(A) (A) 5, AfeA (R) TTerd &
(B) (A) e, WA (R) TR &
(C) i (A) iR (R) W& €
(D) i (A) 3R (R) Tord &
(iii) Based on the following identify the correct option.
Assertion (A) : Socialization is an ongoing process.
Reason (R) : It helps the child to grow and develop physically and mentally.
(A) (A) is true, but (R) is false
(B) (A) is false, but (R) is true
(C) Both (A) and (R) are true
(D) Both (A) and (R) are false

11 & YR W w& foshed &l AT

TIET (A) : TSR] TR T el Teh Uik |

HIOT (R) : IE o= i IR IR AFFaE gfg R faemm H Temar #dt 2|
(A) (A) T, AfFA (R) To0d ©

(B) (A) e, Wfeh (R) Tl ©

(C) THi(A) 3R (R) &t

(D) THI (A) IR (R) Tord &
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(iv) Based on the following identify the correct option.
Assertion (A) : Human society has rarely experienced changes.
Reason (R) : Social institutions have undergone tremendous modifications from
the times of our forefathers.
(A) (A) is true, but (R) is false
(B) (A) is false, but (R) is true
(C) Both (A) and (R) are true
(D) Both (A) and (R) are false
11 & YR W w& foshed &l MU
TIET (A) : A G A IR & hell IRl o1 A9 fRan g
T (R) : GRS Geenedi  qesi & T99 ¥ 15[ SeeA & W T |
(A) (A) W&, SR (R) Tom@ §
(B) (A) TTerd, WfehH (R) Wl §
(C) THi(A) 3R (R) W&t &
(D) T (A) 3R (R) T §

SECTION - B/ @US - B

Answer the following questions in around 100 words. 2x6=12
frfeiEd § 9 Foish W 1 ST AT 100 sl feafy |
26. Distinguish between open and hidden observation. 2
Ten 3R four Juur # i e Y |
27. (a) What is corruption ? Mention some of the manifestations of corruption in daily life. 2
YRTAR -1 ¢ 7 S Sl § =R &t 9 stfyeafal 1 oo & |
OR / 3teran

(b) What is poverty ? How does illiteracy contribute to poverty ?

TRYST o 2 e e H# Y AnTeE ! © 2

28. Why do many sociologists today do not support the idea of “primitive communism” ? 2

TS & GHTSIIME STfeH |rene i foamem ol WiwR &= T8 id ?

29. (a) Distinguish between ‘natural inequalities between people” and ‘inequalities in their 2
conditions of existence’.

“grepfass TR seRl’ iR 37 ¢ a1 ot qumedl i TR e’ § SR T |

OR / 3tan
(b) How is Hypergamy different from Hypogamy ?
s foame iR wiqem faame & & i €2
30. Highlight the role of family as agency of social control. 2

TS 01 1 Tk ToiE % 9§ 9RER i fHeR T geRnt SifaT |

31. What is dowry ? Why is it regarded as an evil practice ? 2
TS 1 ? 3 Tk FUAT FA T SO € 2
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32.

33.

34.

35.

36.

37.

38.

O[3 0]
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Answer the following questions in around 200 words.

frafafad g9l o ST 9T 200 el § <ifSw

(a) Describe how the subject matter of History is different from that of Sociology.
Tl H o sfoemm ot fawasg wmmere & forg R fia= §2
OR / 3t
(b) What is applied Sociology ? Differentiate between social work and applied sociology.
WTRANITeh FHTSTRIE 01 € 2 |eifoieh i SR qreiifites qreianes # Sfa e hifery |

(a) Explain the relationship between Assimilation and Socialisation.
STTHTOT TN FHTSITRLO] o Goie] T e |
OR / 3eran

(b)  What are basic principles of role theory ? How does the process of role taking help in
developing personal identity ?

Jfirer fate o fagia o werea fem s € 2 yfrest fram =6t ufskan o yer safsaa fawm
H TgrEe Bl § 2

How has the phenomena of dominant caste influenced the caste system ?

Y/ FE W i YT 5 i Ao &1 fod yr genfad fhan €2

One of the major problems faced by the Scheduled Tribes is displacement. How does that
affect the tribals ?

STYfaa SHSfaal o FE SAHare JoE gaenst § 9 U faearm €1 98 3% v yar geifaa
HA T ?

What are challenges of using participant observation technique of data collection ?

TRTER ST Jervr fafer grT ffehs geheat e | o gAifaar € 2

(a) What is the difference between ascribed and achieved status ? Explain with the help of
examples.

e 3R SIfeiq gfrafasi § s 3R § ? Sfea Sereul g T i |
OR / 312ran

(b) Discuss the four forms of marriages that are considered proper and desirable in the
traditional Hindu Society.

R fowg ot § foame & fh=dl 9R ey i st ok aifed o9 9 €, T #i |

(a) How do customs act as a means of informal social control ?
TG foHe YRR | |HIfSTer T30 o SHIg=nies e & ®9 § hd sl g 2
OR / 3teran
(b) How are laws different from customs ?

A genei § ford yehR fum § 2




Answer the following questions in around 500 words.
frfefad wedl % ST e 500 sl § A

39. (a) One of the major deprived section of our population comprised of street children.
Elaborate. 1+4

TN SHEA 1 T Hew@qul fIsel a1 el o o= § | T il
OR / 3tgan
(b) Who are OBCs ? Identify and explain the problems faced by them.
31 fose ol S €2 3kt Fuenetl 1 e Y SR o |

40. (a) “Family is the basic unit of social organisation”. Discuss the specific features or 5
characteristics of the family.

" qfRER AT e i et ST § ' | ORER i fagmarett W == it |
OR / 37erar

(b) Certain, definite and comparatively stable patterns of behaviour of different members
of a kin group are in place. Explain the kinship behaviour based on avoidance,
avunculate, amitate and teknonymy.

G SRR =1 e i Afeaa Afcall Teert ¥ & e ar] Bt § | e ) F At
S URER, Wge gvery, fagean SIfsRr iR STEdfd Tl & STER | TSRl STagR i

AT |
Optional Module - I : (Status of Women)
Tehicdeh HISTE - 1 : (TGS ot WTHISTR &X )
41. Identify the fact that is not correct of the status of women in India in the ancient period : 1

(A) During early Vedic period, women enjoyed a relatively higher status

(B) Manu Smriti and Yagnavalkya laid down codes of conduct

(C) During the period of Buddhism and Jainism women were treated with no respect
(D) Ramayana and Mahabharata have a strong influence on Indian society

A e § 9RA § Afeenedl w5 wfeafa § defya oF o wed 98 11§ 2
(A) 9Rf9ek dfseh el & oA, Afgest sl STUaThd 3= Sl 9T o1 |
(B) g Hfa R Aac 1 =R Higar HEiRka =i |

(C) ditg 3R S g & el H Afgensii I IS T T8l fopdl STl o |
(

)
)

D) TEME SR HETYRA Sl TR THS T T8l T914 2 |
42. Which of the following terms refer to the death of mothers in child birth ? 1
(A) Infanticide (B) Foeticide
(C) Maternal mortality (D) Death rate
frefafed § @ oF 91 9 9= & 9 % SRA AIa1st ot 9o 1 Hefid o ¢ 2
(A) forg e (B) YU TN
(©) g TI (D) I
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43. Which Article of the Indian Constitution declares ‘the State shall not discriminate against 1
any citizen on grounds only of religion, race, caste, sex, place of birth or any of them ?
(A) Article - 14 (B) Article - 15(1)
(C) Article - 14(1) (D) None of the above
IR HfaH™ 1 ®F 91 STI=9% =iftd il § foh Toa fordl TR o faams waa o, geay,
wifa, fefm, S T = 37 G fohElt & e W e Tel e ?
(A) AT=% - 14 (B) AT=% - 15(1)
(C) oTT=% - 14(1) (D) SWRIa H ¥ g Tl

44. In Patriarchy, the arrangement of relationships upholds male superiority and women 1
. (fill in the blank).

fagaarers afaril & qe9 fodl W 31 J@ s © 3iR Afged 37 @At
(et T2 wY)
45. The difference between men and women as created by the society - (Define in one word) 1

A H qeul IR Afgetel & i AR - (T g H R i)

46. During the (Medieval/early Vedic/later Vedic) period, evil practices like sati, 1
child marriage or ban on widow remarriage did not exist. (Fill in the blanks)

(AT / IR Sfgeh /ST afew) war & S 9dl g, so foare a1 faemen
Afdare wfasier St Fuemd & ot | (R T «))

47. The medieval period saw the rise of Islam in India. (True/False) 1
TR H YRA H S&IH oh1 354 goTl | (T2 /7Terd )

48. (a) What is gender discrimination ? Give one example from your day to day life to justify =~ 2
that we still experience it in our lives even today.

TATTeh 9RHTE 941 § ? 379 STk SiTa o IS <d gU fis Fifae fof 9 o7t off s1om Sfed
T 3 od W@ T
OR / YT
(b) The Constitution of India laid the foundation for creating a social order where men

and women are treated as equals. What does the Directive Principles of State Policy
prescribe in this regard ?

YR TigemT 3 Teh TH THTS) o Tfd i i Hid Slell fS9d 3iRd 9 STeH J9H o4
I | TsT & ifa fAderes fagril 3 39 forg ger Tenfya fan 82

49. (a) A series of laws have actually paved the way for bringing about major changes in the 5
lives of women. Enlist any five such laws that have been passed to protect their rights.

A 1 Tk WA A aredd § Afgetiedi & Sfiaq H 9 Igard aM S 01 g9 fwa ¥ 137 6
AfereRRl -t 1an o ferg wifta o e fored wTe SRl o6l e |
OR / 3eran
(b)  Describe the status of women in the Modern period of Indian history.

AR sfaem < 3nYfTer hial § Afgetied ot feufa =1 9o &
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Optional Module - II : (Indian Culture)
Yehedeh AIST - 11 : ( WA W&hid )

41. Identify the fact that does not justify the fact that culture is space bound :
(A) Indians meet friends with folded hands while the people of Tikopia by raising fists

(B) While white dress is considered auspicious in Christian weddings, it is red for the
Indians

(C) People wear warm clothes in winter and carry an umbrella in the rainy season
(D) None of the above

" R THEg €| 9 YA I UgEH il 39 a2 & o 3fea e ®

(A) YR & 1Y Siree 31fiared FXd €, Safeh faenifuame 3 framdt S &l 32t g8 wensal
YMHR |

(B) TuT wnfedi | Wihe WIRMeR Y AT S ¥, Seifh WRdE! & fau o |

(C) < afddl ¥ T %S TeTd © IR SR H BT TRt 9o ¢ |

(D) YU H ¥ g T2 |

42. In the beginning of the 20t century during the British rule, distinct architectural school 1
emerged. Identify from the following.

(A) Revivalist school (B) Sarnath school

(C) Progressive and Modern school (D) Both (A) and (C)

20 o Tt ot 3B | fafewr smem & SR, fafire argfies fommer @1 3ea gan | ffafaa § 9
RECIER

(A) TR el (B) HRT Tt

(C)  wfaRiiet SR SYfT e (D) & (4) R ()
43. Based on the following, identify the correct option. 1

Assertion (A) : In the Indian society, the emphasis on ritual seems very high.

Reason (R) : The religious practices and values are constantly striving towards,
‘Samanvaya’ i.e. reconciliation and concord.

(A) (A) is true, but (R) is false

(B) (A) is false, but (R) is true

(C) Both (A) and (R) are true

(D) Both (A) and (R) are false

=1 & 3TeR W wE fashew =l AT .

AT (A) :  IRAT FE H, ATSH R a9 5 7
HIOT (R) : HfHE Jed 3iR Yo TR SH-o 31iq draia 31k ggeme ot feen & yam X @ €1
(A) (A) W&l wfeT (R) Terd

(B) (A) 7o Afehd (R) W&

(C) THI (A) 3R (R) W&t

(D) <FI (A) 3R (R) Terd
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44.

45.

46.

47.

48.

49.

Time and dimension of culture makes it dynamic. (Fill in the blank)

Fe 3R o M HEhfa ! Tiaeia s ¢ | (e T 1))

The art and science of designing and erecting buildings is called - (Define in one word)

Yol o AT oM 3R 9o 401 ) el Shedidl © - (T I8 § 9q50)

Restrictions or prohibitions that are not permitted by society is known as (law/
taboo/force). (Fill in the blank)

3 yiqeiyr =1 Jek S Gt 5 Thd el § (fafu/afsia/eae) weam €1 (faa o «)
Language does not play any significant role in a culture. (True/False)

foreht wepfa ® e eyl et w& fAurd g1 (S 7Terd)

(a) Mughals were a great patron of literature. Discuss with examples.
Tl Tifec o He Gk 9 | SeTed Fied == |
OR / AT
(b) How is Indian cultural heritage considered so rich and diverse ?

AT Wiepiaeh Tormed sa-t T9g SR fafaemdmel & = S &2

(a) What is culture ? Explain the two broad components of culture.
Tepfa 1 €7 HERa & S SATIH FShi it AT |
OR / 3teran

(b) How is culture a learnt behaviour ? What is Enculturations ?

TEhTd Toh HET g HeRR ¥ § 7 RISl § o A € 2
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